p(r)

Ratio to ATLAS

20

18

16

14

12

10

[EEY

0.5

7000 GeV pp tt
[ T T T N UL L L I L N B B B I %)
— . . _ -5
— Differential jet shapep (b-jets, p_>70, n| < 2.5) —z
- —1=
— m  ATLAS I
~ --0-- Pythia 6.428 345 N
- —A— Pythia 6.428 370 2
- Pythia 6.428 ambtl 10
— —— Pythia 6.428 z2 12
e =
__ 1T
- _| ™M
" 13
— -1 ©
— — O
- i ey
—
B 1=
I —1IX
u —.8,
B =
- 1
_ 1 <
N 18
— )
L —]o
o
— -0
1, &
= =
— —2
1
L —0.5
I T S SR T I T S SR T I T S SR T I T S SR T l
0 0.1 0.2 0.3 0.4



	Contents
	Page 1


